Date: Week 18: Day 1
Solve. \(2 Change to standard form. Y3 Uses < or=to )
2. 6_ 4X10+GX1+5X<T0|_6>+2X(|,0%) compare.
= ) 97.052 O 97.502
A y

the box?

(‘-{ Find the difference. \//5 What is the volume of \(6 Mrs. Rivera has 785 cubes to pass out to her \

24 students. If she gives each student the same
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\ RN .

the box?

3 ft.

AN

18)6 1 3

12-0.37 = number of cubes, how many cubes will each
student receive?
B
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7 (¢ What is the meaning of the following idiom’?\/8 Write two words that use the root below. )
; “head in the clouds’ . &
(o ERIE
C O 1 : [g } {g come J
3% } VENT &
\ 9, v, }f /
/q Trace, then write what city you live in. ~\ Word 1:
\ rea '.."__J',"’ "_': T T e : '/Word o /
- Name: Date: Week 18: Day 2
(| solve. Y2 Change the decimal to expanded \/3 Use >, < or=10 )
2 form. compare.
2+%7= 102.31 . O 16
tenths ’
\ AN I\ &
/L| What is the volume of \/5 Solve. Y& Wilson buys one hardcover book and one \

paperback book. The hardcover book costs
$12.83. The paperback book costs $3.75 less than
the hardcover book. How much money did he
spend in total?
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What is the meaning of the following idiom’?\/B Write two words that use the root below.

“hold your horses’

s

~ |ook at, examine}
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q i Trace,”thqnwwr‘ite what state you Iive in, 7
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Name:

Date:

Week 18: Day 3

fl Solve.

T xH =

\(2 Change to standard form.

2x1,000+5x100+3 x10 +

ox{iere

\/3 Find the volume.\

. AN J

(LI Use >, <, or = to \ﬁj Find the sum. \(6 Juan needs to ship 1,924 toys. If 8 toys fit in%

compare medium box, how many medium boxes does

' 153.708 +92.04 = Juan need in order to ship all of the toys?
581 O 96
hundredths tenths

. AN i &

/7 Personification is giving human qualities to objects/animals. \/8 Wite two words that use the root below. )
o 2

a. The storm destroyed the house. E_é MMOONNO ](§ alone, one ]

Q The wagon under the weight of all the boxes/ =

/q Trace, then write what country you live in, \ Word 1:

\ ;2:‘,{7"!"_’, ‘r{ 1 S o “""""""/%\lord D 7/
Name: Date: Week 18: Day 4
/l Solve. \/2 Change the decimal to expanded \/3 Find the volume. )

form.
6 - 2 = 190.526
-~y - 5
s B o &
/Ll Use >, <, or = to \ﬂs Solve. Y&  Wilson buys one hardcover book and one I
paperback book. The hardcover book costs

compare. j

P 5)4,603 $11.34. The paperback book costs $5.48 less than

26 the hardcover book. How much money did he

100 0.260 spend in total?

%, A A J

a. Time

/7 Personification is giving human qualities to objects/animals.\

/8 Write two words that use the root below. \

b. The wilted flower was

when you're having fun. {g PED J [g

foot ]

for water.
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(q Trace, then write what continent you live in.
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